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Question Number : 1 Question Id : 7715134536 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T 341 nMOSFET H S ¢ diwedl @1 #H Ve $1 g/l Wil § Ul 5901 AH Vg & §AH
GACIEI
In an Enhancement mode nMOSFET, as the value of gate voltage, Vg is increased and becomes
equal fo Vg,
(a) SEHdFm (&) & d BR ¢ 9 T 9N &
A channel of holes is formed between source and drain
(b) 7 yuidar 3@efdd & S &The gate is fully depleted
(c) W @ &1 WoN ¥OER & Y9 & oIl &

Work function of gate becomes equal to substrate
() T Fd I AR &7 0-IIR I I §
The substrate region below gate becomes n-type

Options :
1.a
2.b
3.C
4.d

Question Number : 1 Question Id : 7715134536 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U9 {341 nMOSFET # W§ e dieedl @1 AM Vg @ 96/ Sl § Ul 39 AH Vg & M
gl o gl

In an Enhancement mode nMOSFET, as the value of gate voltage, Vg is increased and becomes
equal fo Vg,

(a) 938 d T (&) & 9 B & 9 ¢ 9N &

A channel of holes is formed between source and drain

(b) e Qi aefid & WId §/The gate is fully depleted
(c) e & BN YBH HGER & GHM & oIl §
Work function of gate becomes equal to substrate
(d) T IR P ARR &7 n-FOR BT & e g
The substrate region below gate becomes n-type

Options :
1.a



2.b
3.¢C
4.d

Question Number : 2 Question Id : 7715134537 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TEX 2AIS &7 ¥ nMOSFET & Wera @ fufy ... .. AR

The condition for an nMOSFET to operate in deep triode region is given by
()  Vbps>>2(Ves-Vm)

(b)  Vps<<2(Ves-Vrm)

(c)  Vbs>(Vos-Vrn)

(d) Vps T8 Vg 3HUBR Vps @ ol f 99 & e, R @

Vps and Vs such that Ip is constant irrespective of Vpg

Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134537 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e ¢HiS &7 ®# nMOSFET & Udied &1 R ....... RIS
The condition for an nMOSFET to operate in deep triode region is given by
(8)  Vps>>2(Ves-Va)

(b)  Vps<<2(Ves-Vrm)

(¢)  Vos*(Ves-Vn)

(d) VDSWVGSEWVDsaENmHH%WIDWﬁ

Vps and Vs such that Ip is constant irrespective of Vpg

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134538 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



gt % 9 9F-W MOSFET ¥ cgell e 1 ol &% &
Which of the following causes a shift of threshold voltage in a MOSFET?
) T Ui Body effect

b) 3 T Wger Channel-Length Modulation

(0)
() 9 cge T Subthreshold Conduction
(d)  TuE TAL of the above

Options :

1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134538 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fpfofgd # ¥ #H-91 MOSFET # cgel dleed & ol &% &
Which of the following causes a shift of threshold voltage ina MOSFET?
(@) 08 TMTdBody effect

(b) < T FeChannel-Length Modulation

(¢) I ggel i Subthreshold Conduction
(d)  9uar AL of e above

Options :

1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134539 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



CMOS W@ & ........ &I §/1n CMOS technology
(a) PMOS Il H T8 gRd YRIPMOS devices have lower drive current
(b) PMOS Ifdaat U fmeft w ofimfy et o fo 3= Frfa ity &1 wesl @ ©
PMOS devices exhibit higher output resistance for given dimensions and bias currents
(c) PMOS Jfdl # IR dred Tiad &
PMOS devices have higher carrier mobility
(d) PMOS Jickl o 3faRrarchal 8/PMOS devices have higher transconductance

Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134539 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

CMOS et & ... .. &Il /In CMOS technology

(a) PMOS Jiddl | f4 g5d YRUPMOS devices have lower drive current
(b)  PMOS Yot fou fommalt ud o ermist o fou 9= i ofcRly &1 veel & &
PMOS devices exhibit higher output resistance for given dimensions and bias currents
(c) PMOSJ&@l ¥ IR ded TMagiadl ¢
PMOS devices have higher carrier mobility
(d) PMOS Jfcl H SfcRmaddl 8/PMOS devices have higher transconductance

Options :
1.a
2.b
3.C
4.d

Question Number : 5 Question Id : 7715134540 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Id Tl e Bl oY 9 UM ... 3 BT ¢
The short-channel effect of channel length modulation causes
(a) Ip-Vo Mgl & 3u gal gar d gy
Decrease in subthreshold slope of Ip-V characteristics
(b) Ip- Vp 3HceUl & Wdid &4 gaF H 3
Decrease in linear region slope of Ip-Vp characteristics
(c) Ip-Vp Hficemi & R g &9 ca |
Finite saturation region slope of Ip-Vp characteristics

(d) Iuddd VAL of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134540 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Id T g B Y 99 UM .. S BT §
The short-channel effect of channel length modulation causes
(a) Ip-Vg3ificem & 3u ¢gelt car H g
Decrease in subthreshold slope of Ip-V characteristics
(b) Ip-Vp el & Ydi® &7 cad | 3™
Decrease in linear region slope of In-Vp characteristics
(c) Ip Vp faemi & uRfid Ui &7 cam |
Finite saturation region slope of Ip-Vp characteristics

(d) Iudad VAL of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134541 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



MOSFET & Tt &4 fdgqd &7 & PRl Tiqsfier Suev ad .......... gl
The mobility degradation factor due to vertical electric field for a MOSFET is
(a) Vgs @ HUIdH/Proportional to Vs

(b)  (Vgs-Vi) & U@/ Proportional to (Ves-Vi)
(c) 1+0*Vgs

(d)  1+0%(Ves-Vi)

Options :

1. a

2.b

3.c

4.d

Question Number : 6 Question Id : 7715134541 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

MOSFET & iU &4 fdgqd & & Rl iqeficr Sfuerv ad .......... gl
The mobility degradation factor due to vertical electric field for a MOSFET is
(a) Vgs & HUIdH/Proportional to Vs

(b)  (Ves-Vy) & HHUIR®/Proportional to (Ves-Vi)
(c) 1+6*Vgs

(d) 1H0%(Ves-Vy)

Options :

1.a

2.b

3.c

4.d

Question Number : 7 Question Id : 7715134542 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



3U-100 nm CMOS Welfie! ¥ 3o Fued d Fy @ie TR @0 & U g TR

The processor architecture proposed for high performance and low static power consumption in
sub-100 nm CMOS technology is

(a) d§ SRMulti-core

(b)  UIRUdS/Pipelined
(c) RISC

(d) gRas Harward
Options :

1.a

2.b

3.¢C

4.d

Question Number : 7 Question Id : 7715134542 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3U-100 nm CMOS Welfie! # 3o Fued W Fy @ie TR @0 & U g TR

The processor architecture proposed for high performance and low static power consumption in
sub-100 nm CMOS technology is
(a) d§ BR/Multi-core

(b)  URUAIg=/Pipelined
(c) RISC

(d) gRas Harward
Options :

1.a

2.b

3.c

4.d

Question Number : 8 Question Id : 7715134543 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fgfefed § ¥ H-91 @ &R 3 MOS Higd @l qol § BSIM Hisd & YUREd €U T4 57
Which of the following is not an improvement of BSIM model over previous Level 3 MOS
model?
(a) R @ M W@ 390 dahad oA &1 § TR &

The current values and their derivatives are continuous in inversion region
(b)  HGEN PT GHAM HIGd FTUGUAccount non-uniform doping of substrate
(c) Ud il e & fow ffen wraa i @

Incorporate fitting parameters for device geometry dependence

(d) TiEie wiieww § aHl $d @ oo fgg 47 i @

Mobility equation involves both vertical and lateral electric fields

Options :
1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134543 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fgfifed & ¥ dH-91 fi8d &R 3 MOS Higd &I ol § BSIM Hisq @ JURED &7 gl 87
Which of the following is not an improvement of BSIM model over previous Level 3 MOS
model?
(a) R 9 W 390 a0ad oA &1 § TR &

The current values and their derivatives are continuous in inversion region
(b) AR I AYHAH HIGT T/ Account non-uniform doping of substrate
(c) T ot S o g e wrae =i @l

Incorporate fitting parameters for device geometry dependence

(d)  TREe wiie § aHl B @ oo fggd 47 Wi @

Mobility equation involves both vertical and lateral electric fields

Options :
1.a
2.b
3.c



4.d

Question Number : 9 Question Id : 7715134544 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

CMOS uf#rar warg #, DIBL & @Y @7 U¥@ ¥ w24 o fou Fofufes § @ el
ooy fomn oI @

In the CMOS process flow, which of the following steps is employed fo prevent the short-
channe] effect of DIBL?

(a) S/DWITA & Yo e/ Implant anneal of S/D implants
(b) LDD & fow 9d S/D waw/ Tilted $/D implant for LDD
(c) Bfed e sfiqwrse faom / Nitrided gate oxide growth
(d) gyadwu & feu STI/ STI for isolation

Options :
1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715134544 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

CMOS Wl warg #, DIBL & @Y @7d U¥@ ¥ w94 & oy Fofefea & § a-w
weH o o 8

In the CMOS process flow, which of the following steps is employed to prevent the short-
channe] effect of DIBL?

(a) S/DYARH & Wa 3Fid/ Implant anneal of /D implants

(b) LDD & fow d S/Dwaw/ Tilted S/D implant for LDD

(c) Tmfea M ¥ieEe o Nitrided gate oxide growth

(d) g¥@mRw & forw STI/ STI for isolation

Options:
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134545 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

e 30 WEHH VLS Uidted & fow fgfafed o 9 oH-91 uhafdd W1-omueed (Wieiaumm)
qID 87

Which of the following is not an enhanced photolithography technique for deep-submicron VLSI
fabrication?

(a) U9 R AR (feawm) Phase Shift Masking (PSM)

(b) VSRIY WHwHe YUR (3 Optical Proximity Correction (OPC)
(c) W R '{—Tﬂﬂ SGT/E-beam writing on wafer
(d) ASH JREY () Mmmersion Lithography

Options :

1.a

2.b

3.c

4.d

Question Number : 10 Question Id : 7715134545 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tl 30 WEPH VLSI ¥ & fou fafife & 3 a1-91 ol wi-smvced (wreifcumm
D g7

Which of the following is not an enhanced photolithography technique for deep-submicron VLSI
fabrication?

(a) Y e g (fegum) Phase Shift Masking (PSM)

(b) PR Ede YUR (3 /Optical Proximity Correction (OPC)
(c) 9B W 3-8 TGTE-beam writing on wafer
(d) [ RARU (fUMIBY) Immersion Lithography

Options :

1.a

2.b

3.¢C

4.d

Question Number : 11 Question Id : 7715134546 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Rp & M IRy W@ Ry & SHAMY W4 WY & I Uwfud MOS fivdl 1@ & f,
SYIRE e i & R @t L. &N fean T B

For a MOS differential pair configured with drain resistance of Rp and common source resistance
of R, the magnitude of Common Mode gain is given by

(a) Rp/(l/gnt2Rss)

(b)  Ro/(1/gutRss)

(¢)  2Rp/(1/(2gu)tRss)

(d)  Ro/2/(l/gutRss)

Options :
1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715134546 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Rp & M0 WRlY W Res & IWaMS 90 WiRlY & Oy G&fa Mos fadd o0 & o,
SHIg Hig Tl & oREm @ L. gl e T R

For a MOS differential pair configured with drain resistance of Rp and common source resistance
of R, the magnitude of Common Mode gain is given by

(@)  Ro/(l/gut2Rss)

(b)  Ro/(1/gutRss)

(¢)  2Rp/(1/(2gu)tRss)

(d)  Rp/2/(l/gatRss)

Options :
1.a
2.b
3.C
4.d

Question Number : 12 Question Id : 7715134547 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



ofeRad # ¥ SIF-91 MOSFET 3R UTaTe Yasid & ©U 4 31 3l 87

Which of the following can act as a MOSFET Trans-impedance amplifier?
(2)  IYIFE HId GEYU/Common source configuration

(b)  IHYME TIC HEYU/Common gate configuration
() vy g (g_ﬂ U¥YUT/Common drain configuration
(d)  JYdd H U B Te/None of the above

Options :

1.a

2.b

3.¢C

4.d

Question Number : 12 Question Id : 7715134547 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AfREd & ¥ $H-T1 MOSFET T UiqaTHl Yasd & &0 H B Bl o7

Which of the following can act as a MOSFET Trans-impedance amplifier?
()  IHIMY AT &Y/ Common source configuration

)

b)  IYTME 7T GEYU/Common gate configuration
) wﬂ?ﬂg frifm (g_'l) G&UUl/Common drain configuration
)

Gmiﬂﬁ T U BI5 Tal/None of the above

Options:

(
(c
(d

1.a
2.b
3.C
4.d

Question Number : 13 Question Id : 7715134548 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



100 MHz & §S0WR ® 100 ppm WA & f¥ed ¢ & fU W& ADC WG

An ADC architecture that is appropriate for giving resolutions in the range of 100 ppm at
bandwidths of 100 MHz is

(a) SRR Tiade/Suceessive Approximation

(b)  UIRUMITS/Pipelined

(c) ?ﬂﬁﬂﬂ @HlBoth the above

(d) R Sel/Sigma-Delta

Options :
1.a
2.b
3.c
4.d

Question Number : 13 Question Id : 7715134548 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

100 MHz & d3ffR ® 100 ppm WM & fNed & & faU SWd ADC Rl

An ADC architecture that is appropriate for giving resolutions in the range of 100 ppm at
bandwidths of 100 MHz is

(a) JTRRR YD/ Successive Approximation

(b) UM/ Pipelined

(c) (ﬂéﬂﬂ GHBoth the above

(d) f SwSigma-Delta

Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134549 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Si 43 e Fou gRT Safed dieedl L......... 8

The voltage generated by a Si Bandgap reference
(a) EgqtmVr

(b)  EgqH4+m)V7
(c) Egqt4Vr
(d) Edq
Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134549 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Si 4% e Uo R Safed dieedl ..., 8

The voltage generated by a Si Bandgap reference
(a) EgqtmVr

(b)  EgqH(4+m)Vr
(c) Eg/qtdVr
@) Edg
Options :
1.a
2.b
3.C
4.d

Question Number : 15 Question Id : 7715134550 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



W PLL @ &al fifdfdexw (@), dea fFbd dfm d'fsn) o Fo omh e iR
I B s w0 # IWm # FeRid 6u O g6 g
A PLL can be modeled using Phase Discriminator (PD), Voltage Controlled Oscillator (VCO) and
Low Pass Filter (LPF) as
(a) WY U aE didiel W wiesd W § wiiv

PD followed by VCO in forward path and LPF in feedback path
(b) W H O & T ToiivE Sud oG didiad

PD followed by LPF followed by VCO in forward path
(c) ¥ W H U & 9 IqUUe T4 Gigad 1y § diie

PD followed by LPF in forward path and VCO in feedback path
(d) 3 W ¥ dis @ visdd T A WS & a Tedve
VCO in forward path and PD followed by LPF in feedback path

Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134550 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U PLL @I oal fdffdaawu (@dh, diced Faba afe didisn) W@ R el WMo e
(CHTH) B .o ® § 3w W Fekid a @ ged 8
A PLL can be modeled using Phase Discriminator (PD), Voltage Controlled Oscillator (VCO) and
Low Pass Filter (LPF) as
(@) o W H U & didiel v wised w H wdive

PD followed by VCO in forward path and LPF in feedback path
(b) o W ¥ A & §C wadiee 39d e didal

PD followed by LPF followed by VCO in forward path
() T ¥ et & o wWhw i Pleed 1 F ditaf

PD followed by LPF in forward path and VCO in feedback path
(d) 3 Ty ¥ Al vl vlsss w A Uil & 4w

VCO in forward path and PD followed by LPF in feedback path

Options :
1.a
2.b
3.c



4.d

Question Number : 16 Question Id : 7715134551 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 g0 ot 21 WiUe () &N P 8, ol Wde # Lns @1 YR face 51 39
clicH @l BTe A e 82

A Ring oscillator is constructed by 21 inverters, each having propagation delay of Ins. What is the
clock frequency of this Ring oscillator?

(a) 23.8 MHz
(b) 47.6 MHz
(¢) 21 MHz
(d) 42MHz
Options :
1.a

2.b

3.c

4.d

Question Number : 16 Question Id : 7715134551 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

6 3 QA 21 WiUE (3 §N A §, 96 e lns @GR 09 31 9 T
clicH @l BTe A e 82

A Ring oscillator is constructed by 21 inverters, each having propagation delay of Ins. What is the
clock frequency of this Ring oscillator?

(a) 23.8 MHz
(b) 47.6 MHz
(¢) 21 MHz
(d) 42MHz
Options:
1.a

2.b

3.C

4.d

Question Number : 17 Question Id : 7715134552 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

ool i gream Ui W H YRIEW @ AH §R WD
What is the lowest level of abstraction in any hardware description language?

(a)  deIN®/Behavioral

(b) T ¥Gate level

(c) SYAHD Architectural

(d) TR TRegister-Transfer Level
Options :

1.a

2.b

3.¢C

4.d

Question Number : 17 Question Id : 7715134552 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fotft i gream aU YW ¥ IR @1 FEaH TR @ 80

What is the lowest level of abstraction in any hardware description language?

(a)  deIN®/Behavioral

(b) T TGate level

(c) WUYAIHD Architectural

(d) TR T/ Register-Transfer Level
Options:

1.a

2.b

3.C

4.d

Question Number : 18 Question Id : 7715134553 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fafifad § ¥ oF-41 93d9uig VHDL &YF Tl 87

Which one of following is not a synthesizable VHDL statement?

(a) ‘case’
(b)  ‘wait until®
(c)  ‘wait for’
(d)  ‘Generate’
Options :

1.a

2.b

3.¢C

4.d

Question Number : 18 Question Id : 7715134553 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fafifed # ¥ ®H-91 §0viig VEDL &Y 7§l 8

Which one of following is not a synthesizable VHDL statement?
(a) ‘case’

(b)  ‘wait until’
(c)  ‘wait for’
(d)  ‘Generate’

Options :
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134554 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

qd G Ty @ ¥ {6y UeR @1 fade oHa 8

At pre-layout timing simulation fwhich type of delays are approximated?
(a) TI¢ facid/Gate delays

(b) ¢ faca/Net delays

(c) 379¢ facid@/Input delays

(d) e 3Hafil/Clock period



Options :
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134554 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

qd eI Ty @ ¥ f6u TR @1 fade SHHd 8
At pre-layout timing simulation fwhich type of delays are approximated?

(a) TI¢ facid/Gate delays

(b) ¢ faca/Net delays
(c) 379¢ facid@/Input delays
(d) e 3Hafil/Clock period
Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134555 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

we TR & o o9 vor & ®e 7l o181 @l afied fie TRy

Which type of state machine encoding requires maximum number of bits for state register?

(a)  dENIBinary

(b) & Blc/One-hot
(c) ﬁ.-‘Gra}f

(d) E’ﬁiiﬁ.-"Hamming
Options :

1.a

2.b

3.C

4.d

Question Number : 20 Question Id : 7715134555 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



e Rt & fou 59 UBR & W Wi disT @ fiead fiw Ikw

Which type of state machine encoding requires maximum number of bits for state register?

(2)  S3IBinary
(b) T gle/One-hot
(c) ﬁ,-'Gray

(d) %’iﬁiﬂ.-Hamming
Options :

1.a

2.b

3.c

4.d

Question Number : 21 Question Id : 7715134556 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fbg YPR @ AAR | A de AR T AR 82

Which type of memory has constraint of minimum clock frequency?

(a) EEPROM
(b) @ RAM (THIRUTH)/Static RAM (SRAM)
(c) Tfd® RAM (SI3RUTH)/Dynamic RAM (DRAM)
(d) da@ WRH RAM (TH3RUTH) /Magneto-resistive RAM (MRAM)
Options:
1.a
2.b
3.C
4.d

Question Number : 21 Question Id : 7715134556 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fpy UPR @ #AR H GAGH PIe G BT TR |7

Which type of memory has constraint of minimum clock frequency?

(a) EEPROM

(b) WfIH RAM (THHRULH)/Static RAM (SRAM)

(c)  Tid® RAM (SI3RUTH)/Dynamic RAM (DRAM)

(d) de@ URRIIRAM (UH3{RUTH)/Magneto-resistive RAM (MRAM)

Options :



1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134557 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TGOy & DH-U1 UUieH YaiH db Yordiedl f SRid aXdl o7
Which resource of FPGA implements combinational logic functionality?
(a)  wiid RAM/Block RAM

(b) Il Rag Afed/Routing Switch Matrix
(c) Hwuig dibd wiid (Wiudd) /Configurable Logic Block (CLB)
(d) Suded T/All of above

Options :

1.a

2.b

3.c

4.d

Question Number : 22 Question Id : 7715134557 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TGS 1 $H-U1 YW WU T6 UeHaied B DEiiad B 82
Which resource of FPGA implements combinational logic functionality?
(a) M@ RAM/Block RAM

(b) ®f Rag Afed/Routing Switch Matrix
(c) Uwuig dfbd wiid (Tiuad) /Configurable Logic Block (CLB)
(d) W Ti/All of above

Options :

1.a

2.b

3.c

4.d

Question Number : 23 Question Id : 7715134558 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



FPGA &I qorl H Fofcifad & ¥ ASIC & fou ofoRed sftimea wied dH-81

Which of the following is additional design process for ASIC compared to FPGA?
(a) W&V 4T & foU Sffidew (SUwe) Design For Test (DFT) insertion

(b)  AUARS T/ Formal Verification
(c) Wfdd Ymy faxayw (THAU)/Static Timing Analysis (STA)
(d)  ®fdRouting

Options :

1.a

2.b

3.c

4.d

Question Number : 23 Question Id : 7715134558 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

FPGA @ Qo ¥ Fufeied & ¥ ASIC & fou offofted afimea wisbar sH-1 &
Which of the following is additional design process for ASIC compared to FPGA?
(a) T FHd¥H & fou offded (S1hel) Design For Test (DFT) insertion

(b) TEIR® Sid/Formal Verification
(c) Wfdw AT faxeiv0 (TWCI) /Static Timing Analysis (STA)
(d) F{TMRouting

Options :

1.a

2.b

3.c

4.d

Question Number : 24 Question Id : 7715134559 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ITAG SR8l @ Wdidla & iy, TAP %< WRadd o Ry g fafid

For JTAG boundary scan test protocol, TAP state change is controlled by which input?
(a) 1TDI

(b)  TMS
(c) TDO
(d TCK



Options :
1.a
2.b
3.C
4.d

Question Number : 24 Question Id : 7715134559 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ITAG T8l ¥ Tielold & faU, TAP we URadd o9 FHiay g fafa &

For JTAG boundary scan test protocol, TAP state change is controlled by which input?

(a) TDI
(b) TMS
(c) TDO
(d) TCK
Options :
1.a
2.b
3.C
4.d

Question Number : 25 Question Id : 7715134560 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

IR SER std_logic YR & fwd ¥ ¥ §, I R SRR L', 2, W, 1’ B AH YEH B
¢ d fmra a1 favea am fven

Four drivers are connected to a signal of type std_logic, what is the resolved value of the signal if
the four drivers contribute values of L’ ‘Z’, ‘W’ ‘1’ ?

(a) L



Question Number : 25 Question Id : 7715134560 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

IR SR std_logic YR & fwd ¥ ¥ §, U6 R GRR L', 2, W, 1’ B AH WM B
g df fwd o faed A9 fod &

Four drivers are connected to a signal of type std_logic, what is the resolved value of the signal if
the four drivers contribute values of ‘L’ ‘Z’, ‘W’, 1’ ?

(a) L

Question Number : 26 Question Id : 7715134561 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

10 MHz 990 it W WaIfed @ fefoed CMOS IC, 150 mW TR &1 UM &l §, 25
MHz 399 36t R Weieid 9l 1C, 300 mW TR &l U4 &l &1 IC &1 Wi TR JuuM
febe g7

A digital CMOS IC operating at 10 MHz clock frequency consumes 150 mW power, the same IC

operating at 25 MHz clock frequency consumes 300 mW power. What is the static power
consumption of the IC?

(a) 25mW
(b)  50mW
(c) 100 mW
(d) 40 mW
Options :
1.a

2.b

3.C

4.d

Question Number : 26 Question Id : 7715134561 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

10 MHz 999 3R W Welid & fefved CMOS IC, 150 mW TR &1 UM &dl &, 25
MHz 970 39 R Weiad @al IC, 300 mW IR @1 JUHFT &l 31 IC &1 Wfod TR Iu4M
feber 87

A digital CMOS IC operating at 10 MHz clock frequency consumes 150 mW power, the same IC

operating at 25 MHz clock frequency consumes 300 mW power. What is the static power
consumption of the IC?

(a 25mW
(b) 50 mW
(c) 100 mW
(d) 40 mW
Options :
1.a

2.b

3.cC

4.d

Question Number : 27 Question Id : 7715134562 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

9 T &7 & GRMA NMOS R} & Tic HigEs & M SHIed SIoy Thha o o &2
Positive charges are collected under gate oxide of NMOS transistor during which operating region?
() Ugg4/Accumulation

(b) AT Tnversion
(c) Hd&l/Depletion
(d) IWad WAL of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 27 Question Id : 7715134562 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



g T &7 & GRHA NMOS R & e HldIEs & M SHIed SfIdq Thid a1 o &
Positive charges are collected under gate oxide of NMOS fransistor during which operating region?
(a) Tgg/Accumulation

(b) JepH Tnversion
(c) A&/ Depletion
(d) JWE /Al of the above
Options :
1.a
2.b
3.¢C
4.d

Question Number : 28 Question Id : 7715134563 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fafifed fefoed oRuy o9 fiedd 990 gl R Wi § Jodl & 3FH & @, §da
DFF & Q fddd & ¥99 &l 2 ns, XOR ¢ & YRV focid @ 3 ns & &Y H, T SfFfEqa
! 0.5 s T DFF ®1H &I 0.50s & &Y H, 7 Gt facla o1 Torafera HY

What is the maximum clock frequency at which following digital circuit can operate? Assume,

Clock to Q delay of each DFF as 2 ns, propagation delay of XOR gate as 3 ns, clock uncertainty as
0.5 ns and DFF setup time requirement as 0.5 ns, ignore all other delays.

A——D Qg ==

a2 r
(@) 200 MHz

(b)  166.66 MHz

(c) 142.85MHz
(d) 18181 MHz
Options :

1.a

2.b

3.c

4.d

Question Number : 28 Question Id : 7715134563 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofifad fefed oy 69 oftman T g ® TEfid & 96 8 3FH & &, 18
DFF & Q fatid & T8 @I 2 ns, XOR ¢ & U fdeid @l 3 ns & &0 H, GG A
! 0.5 ns T DFF R 31 0.5ns & ®Y #, 37 g focia @I Foraierd H1

What is the maximum clock frequency at which following digital circuit can operate? Assume,
Clock to Q delay of each DFF as 2 ns, propagation delay of XOR gate as 3 ns, clock uncertainty as
0.5 ns and DFF setup time requirement as 0.5 ns, ignore all other delays.

A Dq;; D a—=y

axeo—2 [
(a) 200 MHz

(b)  166.66 MHz

(c) 142.85MHz
(d) 18181 MHz
Options :

1.a

2.b

3.C

4.d

Question Number : 29 Question Id : 7715134564 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

CPU & 914 &I ¥ & W7 & &0 # wiafed § ¥ oH-91 &a: T8 oan

Which of the following DO NOT take place automatically as part of handling of interrupts by
CPU?

(a) WM PR 3 ®P @ AR Yober/Push the program counter to the stack

b) T Widy FoReX B Wb B SR YdberlPush all active registers to the stack

(b)
(c) UM YR & ¥P ¥ U HAIPop the program counter off the stack
(d) fow ofew o fow g @t &R M

Jump to the interrupt handler in the interrupt vector
Options :
1.a
2.b
3.c



4.d

Question Number : 29 Question Id : 7715134564 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

CPU & 9141 &I §GH & W & &0 # FHiafEd # ¥ aH-91 @a: T8 oan

Which of the following DO NOT take place automatically as part of handling of interrupts by
CPu?

(a) WM PR 3 ¥P B AN YoberPush the program counter to the stack

b) T T Wl B ¥F B AR YeberPush all active registers to the stack

(b)
(c) UM SR & ¥P ¥ U BHAIPop the program counter off the stack
(d) fow 9few # faw g @ &R M

Jump to the interrupt handler in the interrupt vector
Options :
1.a
2.b
3.C
4.d

Question Number : 30 Question Id : 7715134565 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

2C H, 0000000 Tdl.......coevnnnn.. & fou SuEm far 9 7
In I3C, the address 0000000 is used as / for
(a M= ®Id adl/General Call Address

)
(b) I (UHdguE) Td/Null (CBUS) Address
(c)  Udl fas/Address extension

(d) 3= Tid F9a® fqulHigh speed controller mode

Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134565 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



2C T, 0000000 Gdl......oouovenn... & fou Iwi fear 9§
In I3C, the address 0000000 is used as / for
(a M= ®Id adl/General Call Address

)

(b) I (UHdguE) Td/Null (CBUS) Address

(c)  Udl fas/Address extension

(d) 3= Tid F9a® fqulHigh speed controller mode
Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134566 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

USB 3.2 # fiddd Sel IR0 & o o7

What is the maximum data transfer rate in USB 3.2?

(a) 5 Gbps
(b) 10 Gbps
(c) 20 Gbps
(d) 40 Gbps

Options :

1.a

2.b

3.c

4.d

Question Number : 31 Question Id : 7715134566 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

USB 3.2 # 3fiddd Sel IR0 X foa &7

What is the maximum data transfer rate in USB 3.2?

(a) 5 Gbps

(b) 10 Gbps
(c) 20 Gbps
(d) 40 Gbps

Options :



1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134567 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

d@Ia® T fdu & 9ey § Feffed § 3 oF-T 3 T 8

Which of the following is true about immediate addressing mode?

(a) o @ 3 Ul & AW Y g fear o g, o 99 veiika fea o gl

Data is accessed by specifying the register name in which it is stored.
(b) YoH-HH P W H § W 6 B

Value of operand is held within the instruction itself.
(c) iuble & qd a6 ™M Ul i W §

Location address is given immediately following the opcode

(d) TR wlofiBa Lo gfdadl ¥ drafad gHg S iR & few 3fed &

Suitable for real time data transfer from memory mapped I/O devices

Options :
1.a
2.b
3.C
4.d

Question Number : 32 Question Id : 7715134567 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

q@lae T [y & 6y | Fofofed 4 ¥ oF-9 3 98 &

Which of the following is true about immediate addressing mode?

(a) o @ 3 U & W Y Ffid i o g, o 99 veiRa fea T 3
Data is accessed by specifying the register name in which it is stored.

(b) UPH-AF B e H § v Wl g
Value of operand is held within the instruction itself.

(c) HwPIE & T &1 ™M Ul e W 8

Location address is given immediately following the opcode
() E URRET Vo IS ¥ TRdfie T S oW & R 3R 3

Suitable for real fime data transfer from memory mapped I/O devices

Options :



1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134568 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFofafad g § RAM @1 U1 39 @1 &7

What is the address range of the RAM in the following figure?

!L-., —A Y7 p
Ay B i
AHJ (1 >
]
Y2 =
70 CS of RAM
3-8 decoder :f_ of
A
4"‘4'.3 —q _ A
Az )"—C‘ EN
""".:'J =0
(a)  0AOQO to OOFF
(b)  2A00to 2AFF
(c) OEOO TO OEFF
(d) 2E00 TO 2EFF
Options :
1.a
2.b
3.¢C
4.d

Question Number : 33 Question Id : 7715134568 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Fofifed f § RAM @1 a1 3 @1 8
What is the address range of the RAM in the following figure?

Ay —A Y7p
Ay —JP *-=
A ’
b
Y2 =
p—— TOCSof RAM
3-8 decoder |, of
1] Yo b
112 —g L
A3 }"—C‘ EN
A9
AI?J_':
(a)  0AO00 to OOFF
(b)  2A00to 2AFF
(c) OE00 TO OEFF
(d)  2E00 TO 2EFF
Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134569 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ARPIERR & §I30 3¢ 74 gl & oe...
Brown out occurs in a microprocessor when
(a) UR YeE dieeal MR cect & i Bift B

the power supply voltage falls below a specified threshold
(b) UR YeH diceal P Ggel ¥ FW Tedl &

power supply voltage increases above a specified threshold
(c) ¥ R Mfey Eell & A Eed |

The clock frequency falls below a specified threshold
(d) THT Mg FiEr G ¥ W Ted §

The clock frequency increases above a specified threshold



Options :
1.a
2.b
3.C
4.d

Question Number : 34 Question Id : 7715134569 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TEHUER ¥ §8U 3M3¢ a9 gidl & va. ..
Brown out occurs in a microprocessor when
(a) UR YeH dicedl [y dgcl & Fd gl &

the power supply voltage falls below a specified threshold
(b) U Y@ diced FiEy el 4 IW dedl &

power supply voltage increases above a specified threshold
(c) AU MgRl MEP Sgell & i Bl §

The clock frequency falls below a specified threshold
(d) THY MgRi MY SEel ¥ W edl §

The clock frequency increases above a specified threshold

Options :
1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134570 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

IC §9 & ¥y H fofafed § 9 oH-w oy w6 8
Which of the following is NOT TRUE regarding I*C bus?
(a) ¥ U @l gR 99 g/t is a two wire bus
(b) Hedl ARR-Aed] &id THY0 DI GHidd &3 §
Supports multi master- multi slave configuration
(c)  400kHz d® @I gd fden H a1 oy Bl 3
Data transfer in fast mode takes place at upto 400kHz
(d) PG Rwd FHRT YR YR FRT GG & g

Clock signal is always generated by transmitting device

Options :



1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134570 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

C &9 & Gdy # Fafafed # ¥ oH-1 oY 988l 8

Which of the following is NOT TRUE regarding I*C bus?

(a) % UP Gl aR §9 g/It is a two wire bus

(b) Hedl HRR-Hedl &id Y90 &l qaffa & @
Supports multi master- multi slave configuration

(c)  400kHz @ @I gd faen # a1 W gl 3

Data transfer in fast mode takes place at upto 400kHz
(d) @G [wd gERT TR YT §RT WG BT §

Clock signal is always generated by transmitting device

Options :
1.a
2.b
3.C
4.d

Question Number : 36 Question Id : 7715134571 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Fofafed e @ 808SHRPINRR H Fuiicd f5a mr 81 URMe: ®H 2201H §  AAH @I
M idl &1 WM & MW & ofddd 2202H H AW fod g

The following program is executed in 8085 microprocessor. The location 2201H initially
contains the value AAH. What will be the value in 2202H at the end of execution?

LXIH2201H
MOV AM
INXH
ORAA
MVIAFFH
JPOLI
XRAA

L1: MOV M.A
HLT

(a) AAH
(b) 55H
(c) 00H
(d) FFH
Options :
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715134571 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Fofafed e @ 808SHRPINRR H Fuiicd f5a mr 81 URMe: ®H 2201H §  AAH @I
M idl &1 WM & MW & ofddd 2202H H AW fod g

The following program is executed in 8085 microprocessor. The location 2201H initially
contains the value AAH. What will be the value in 2202H at the end of execution?

LXIH2201H
MOV AM
INXH
ORAA
MVIAFFH
JPOLI
XRAA

L1: MOV M.A
HLT

(a) AAH
(b) 55H
(c) 00H
(d) FFH
Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134572 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



14 e agufafd e ol & few

For the multivariable control system shown below,

1 -1

10

6o =[t1 : H(s)=[0 l]
)

4 U4 R Ve S M(s) = Y(s)/R(s) B W
Find the closed loop transfer function matrix M(s) = Y(s)/R(s)

R Yls)
i :/r\ Gls) >

b

Hs) ¢

3524 9s5+4 1 350495 +4 l

. SH5s+Asr 6+ 8| . S6tD) (st s

s(s+1) 3542 s245542 ; 3542

s(s+1) . s(s+1)

352495+ 4 1 35405 +4 1

’ Mm ¢ 0 611 [sc+D6+2) &

s(s+1) 35472 s4+55412 . 3542

s(s+1) : s(s+1)

Options :

1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134572 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



14 e agufafd e ol & few

For the multivariable control system shown below,

1 -1

10

6o =[t1 : H(s)=[0 l]
)

4 U4 R Ve S M(s) = Y(s)/R(s) B W
Find the closed loop transfer function matrix M(s) = Y(s)/R(s)

R Yls)
i :/r\ Gls) >

b

Hs) ¢

3524 9s5+4 1 350495 +4 l

. SH5s+Asr 6+ 8| . S6tD) (st s

s(s+1) 3542 s245542 ; 3542

s(s+1) . s(s+1)

352495+ 4 1 35405 +4 1

’ Mm ¢ 0 611 [sc+D6+2) &

s(s+1) 35472 s4+55412 . 3542

s(s+1) : s(s+1)

Options :

1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134573 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fediy o ardfod e o sfgrcd oRUH ¢ = 05 W dfaHfed Wgldd Rt w10 radss gl
5P QUH [P & U ®E @R & 9 A9 1.02 §1 RRew @1 S e L. H
A second order real system has damping ratio { = 0.5 and undamped natural frequency w,=10

rad/s. The steady state value of the output, to a unit step input, is 1.02. The transfer function of
the system s

1.02
s2+5s+ 100
102
s2+10s + 100
100
s2+10s 4 100
102
s2+ 554100
Options :
1.a
2.b
3.¢C
4.d

Question Number : 38 Question Id : 7715134573 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fediy o9 s e o ofgred oM ¢ = 05 W dfaHfed Wgpldd Rt w10 radss gl
301 YA FiEy & U @ amen o g A 102 §1 RRew 91 o wer . 8l

A second order real system has damping ratio { = 0.5 and undamped natural frequency w,=10
rad/s. The steady state value of the output, to a unit step input, is 1.02. The transfer function of
the system is

1.02

s2 455+ 100
102

s2 4+ 10s 4 100
100

s24+10s 4100
102

s2 455+ 100

Options :
1.a
2.b
3.c



4.d

Question Number : 39 Question Id : 7715134574 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W Qe & fou Mo SR ver § ¥ 9H-91 dcuon IR R 3 TeRid @R g7

Which one of the following transfer function exhibits least steady state error for ramp input?

9
s2+2s+9
16
s2+2s+ 16
25
§2+2s+4 25
36
s2+2s+ 36
Options :
1.a
2.b
3.¢C
4.d

Question Number : 39 Question Id : 7715134574 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W Qe & fou Feiifed SR ver § ¥ 9H-91 dcuon R R 3 TeRid R g7

Which one of the following transfer function exhibits least steady state error for ramp input?

9
s24+2s+9
16
st+2s+ 16
25
st 4+2s+25
36
s+ 2s+36
Options :
1.a
2.b
3.¢C

4.d



Question Number : 40 Question Id : 7715134575 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fogad PRI TUR (SUHS) 7Y A fdadd PRYT FUR (HRSIH)
W 3

Discrete Fourier Transform (DFT) and Inverse Discrete Fourier Transform (IDFT) are given by
(a) X, =3V xnezznknﬂ‘u‘ : xn=$E¥:_r}Xk-E_imnm, n €7

() X, =XNlye -i2mkn/N X, :%EE:&Xk_Bimn/NJ n €7

. 1 x il
(c) Xk— bl xn pl2mkn/N . =—EN_1Xv Etzmnﬂu‘] n ez

)

(d) Xk —En by -i2mkn/N ; _ E lX e 121rrhng'l‘u‘J n €7

Options :
1.a
2.b
3.C
4.d

Question Number : 40 Question Id : 7715134575 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fodad BRI TR (@GS T AHA fdad PRY FUR (ARSH) ... & T
W §

Discrete Fourier Transform (DFT) and Inverse Discrete Fourier Transform (IDFT) are given by

(a) Xk— e xnetznknm g L E ’IX E-IZ]’IRH;"N’ n €7

H]

(b) Xk— n= {ane R . Xn :Ezgzéxk-eizmnm: n €z

. 1 x Yl
(c) Xk— e xn gl2mkn/N 8% =_EN_1X“EIZ‘JTRHIJ"NJ n ez

(d) Xk — n ﬂxne —i2mkn/N ; — E lX e IZTEI\nf,!‘u'J n ez
Options :

1.a

2.b

3.c

4.d

Question Number : 41 Question Id : 7715134576 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



JUE YER WA & SISAGS d9n & U K=7 a1 12 @ & Gaa- died U4 fdedl
fdpieT ¥ Jad ied WOl &1 SUA &3l gl 59 WOTell &1 @led disd 5.1 db g1 Bled
WOIElt & <MY & SRV A 39 Al & ade URadd Ui &1 3lbad Bl

Downlink of a satellite communication system employs coding scheme consisting of a
rate-1/2 convolutional encoder with length K=7, and Viterbi decoding. The coding gain
of this scheme is 5.1 db. Calculate the approximate factor of reduction to the receiving
dish antenna diameter due to benefits of coding scheme.

(a) 18
(b) 324
(c) 41
(d) 6.28
Options :
1.a
2.b
3.C
4.d

Question Number : 41 Question Id : 7715134576 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

IUTE YR YUTRl & SRS d48 @ U K=7 0 12 @ & Yoo Hise U4 faewd
fdmled ¥ qad dled Wl &1 JW Bl ol 59 WOl @1 died disd 5.1 db gl dled
TUTEll & Y & BRU AR &R Tol & Wiade URddd Uid @1 Sfibed Bil
Downlink of a satellite communication system employs coding scheme consisting of a
rate-1/2 convolutional encoder with length K=7, and Viterbi decoding. The coding gain
of this scheme is 5.1 db. Calculate the approximate factor of reduction to the receiving
dish antenna diameter due to benefits of coding scheme.

(a) 1.8
(by 3.24
(c) 41
(d) 6.28
Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134577 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

T ol dad oY 3 Y ToRdl § ol 400 Hz-4 kHz @ did R & SR 10 V2Hz!
» RR @ WO TR Hd g7 Jwd &7 o §6d & ot § 5 e ek 75
YA o ¢ b 0 WY & aE @1 9 el gl A 38 1 Q & WRied § affa fa
T & @ S B @ TR e

A telephone channel suffers from Gaussian noise which can be modeled by a constant single-sided
power density of 10€ VZHz! over the frequency range 400 Hz-4 kHz. Band pass filters in the
system ensure that the noise outside this range is negligible. What is the total noise power if it is
dissipated in a 1 Q resistor?

(a) 1.8mW

(b) 22mW
(c) 3d.omW
(d 44mW
Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134577 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T Cobi dad T34 W Y ToRd 8 ol 400 Hz-4 kHz &1 319 W & $R 106 V2Hz!
b fR @ WU TR Hd G- Jwd &7 o 9od 8 ot § §5 e ek 75
Y X § b 39 WY & aIE &1 9 el gl A S8 1 Q & Wkled H &fda fon
WAl &l S9P $d @ UR fhae g7

A telephone channel suffers from Gaussian noise which can be modeled by a constant single-sided
power density of 10€ VZHz! over the frequency range 400 Hz-4 kHz. Band pass filters in the
system ensure that the noise outside this range is negligible. What is the total noise power if it is
dissipated in a 1 Q resistor?

(a) 1.8mW

(b) 22mW
(c) 3.6mW
(d 44mW
Options :
1.a
2.b
3.C

4.d



Question Number : 43 Question Id : 7715134578 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e Fewie Tl 4 @ i 90 9 @ @ xy T § @ T 8l +32mepy2
BIdY & D AW B (0,0,2) Feid H W W gl e, Ml Wagqdid 8l x, y W z ¥l o
P ], k3T 9w 1 e (V2420) ¥, foom &7 ww (qeeids) ... &l

A perfectly conducting metal plate is placed in x-y plane in a right handed coordinate system. A
charge of +32H60\/f columbs is placed at coordinate (0,0,2). €, is the permittivity of free space.
Assume 1], k to be unit vectors along x, v and z axes respectively. At the coordinate (\@\@ 0),

the electric field vectorE (Newtons/ Columbs) will be

z

+3men2 \ 4 .
m.umug \1 Y perfectly conducting metal plate
(0,0,2) J/

e (V2 V20)

(0,00)

-

v

>

) W2k

) -2k
0 2k

) -2k

Options :
1.a
2.b
3.C
4.d

Question Number : 43 Question Id : 7715134578 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185
e Fewie Tl 4 @ i 90 9 @ @ xy T § @ T 8l +32mepy2
BIdY & D AW B (0,0,2) Feid H W W gl e, Ml Wagqdid 8l x, y W z ¥l o
U1 k3or Gew 1 Fee (v2v20) ¥, fagm & afw (emidd) ... ... Rl

A perfectly conducting metal plate is placed in x-y plane in a right handed coordinate system. A
charge of +32H60\/f columbs is placed at coordinate (0,0,2). €, is the permittivity of free space.
Assume 1], k to be unit vectors along x, v and z axes respectively. At the coordinate (\@\@ 0),

the electric field vectorE (Newtons/ Columbs) will be

z

+32meV2 \ 4
m.umu’; \1 Y perfectly conducting metal plate
(0,0,2) /

e (V2 V20)

(0,00)

-

) W2k
) -2k

) 2%

) -2k

Options :
1.a
2.b
3.C
4.d

Question Number : 44 Question Id : 7715134579 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



20MHz & T% 3ufqd a0 ® SmV m! rms @ &7 digdl g1 Sfdd ®U ¥ 12 SEUW GR U
qidd e g

An incident wave at 20MHz has an rms field strength of SmV m-l. How much power would be
received by a properly terminated A/2 dipole?

(a) L94X100W

(b) L77X107W

(c) 3.0XI107W

(d 92X107W

Options :
1.a
2.b
3.C
4.d

Question Number : 44 Question Id : 7715134579 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

20MHz & U& fqd &1 § Smv m! rms @1 &3 digdl 81 Sfud ¥ A2 SEUE &R U@
T oot gril

An incident wave at 20MHz has an rms field strength of SmV m-l. How much power would be
received by a properly terminated /2 dipole?

(a) 1.94X100W

b) L77X107W

(€) 30X107W

(d 92X107W

Options :
1.a
2.b
3.C
4.d

Question Number : 45 Question Id : 7715134580 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U 0@ T @ U 50Q @57 & 9y FfdF VSWR @1 Aied 15 fEw W g @ e
UfaaTEn e g

If input VSWR with 502 line for an antenna is measured as 1.5, what is the antenna impedance?

(a) 50Q
(b) 75Q
(c) 100Q
(d) 300Q
Options:
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715134580 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U 0@ T @ U 50Q @57 & 9y FfdF VSWR @1 Aied 15 fEw W g @ e
UfaaTEn e g

If input VSWR with 502 line for an antenna is measured as 1.5, what is the antenna impedance?

(a) 50Q
(b) 75Q
(c) 100Q
(d) 300Q
Options:
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715134581 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



g ¥ W AAdER RoyE §, e ofdke fam 7.62 4..x3.81 T B, TEp AW &
fw o omefa @1 w @l

For air-filled rectangular waveguide whose inside dimensions are 7.62 cm x3.81 cm, find the cut-
off frequency for the TEy mode.

(a) 451GHz
(b) 3.20GHz
(c) 1.97GHz
(d) 0.74 GHz
Options :
1.a

2.b

3.C

4.d

Question Number : 46 Question Id : 7715134581 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o § W HAdER R0yE q, el didke o 7.62 §.9.%3.81 T.HL B, TEp AW &
fw IR omgfy &1 gar M|

For air-filled rectangular waveguide whose inside dimensions are 7.62 cm *3.81 cm, find the cut-
off frequency for the TE o mode.

(a) 4.51GHz
(b) 3.20GHz
(c) 1.97GHz
(d) 0.74 GHz
Options :
1.a

2.b

3.C

4.d

Question Number : 47 Question Id : 7715134582 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



EPROM H &l &l TR g ¥eRW ............ & oW d U fou a g

In a EPROM, non-volatile storage of information is achieved through

oY Ie & Jada ued § oRadd

Changes in magnetic properties of semiconductor

(b) 3 oI IFH FT 7G HSoft break down of semiconductor junctions
MOSFET & @a e # Sfafle afraw

Charge injected into floating gate of MOSFET
¥ diecd] & WY 3fidRe Hat 91 o

Fusing of internal connections with higher voltage

Options :
1.a
2.b
3.C
4.d

Question Number : 47 Question Id : 7715134582 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

EPROM H T&1 @1 R qamg %eRW ............ & 09 ¥ WW fod o g
In a EPROM, non-volatile storage of information is achieved through
Y Id & Jedd UeH § oRadd

Changes in magnetic properties of semiconductor
(b) 3 Iid A F1 G5 HSoft break down of semiconductor junctions
MOSFET & @ad 7 # 3t amaw

Charge injected info floating gate of MOSFET
I diecdl & Y Sk Feud &1 T

Fusing of internal connections with higher voltage

Options :
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715134583 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



e fid & Ty A Ol O Rkoy YaH 6T 0§l T8 Y @ UgdH &Y

Given below are Full adder circuit sections with output sum/ carry. Identify the correct

statement.
0 -~ \
:
1 — Cin
5 .5 G. —9 — F
5 5l
5 —
o - 1T
1

— Cin_ — F4

e = e — =T =
]
!

y y G
) Fl 99 § W F2 &{/F1 is sum and F2 is carry
b) F3 I § U F2 B{F3 is sum and F2 s carry
) Fl 99 % W F4 d{/F1 is sum and F4 is carry
) F3 U9 § T F4 HAF3 is sum and F4 is carry

Options :
1.a
2.b
3.C
4.d

Question Number : 48 Question Id : 7715134583 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



e fid & Ty A Ol O Rkoy YaH 6T 0§l T8 Y @ UgdH &Y

Given below are Full adder circuit sections with output sum/ carry. Identify the correct

statement.
0 -~ \
:
1 — Cin
5 .5 G. —9 — F
5 5l
5 —
o - 1T
1

— Cin_ — F4

e = e — =T =
]
!

y y G
) Fl 99 § W F2 &{/F1 is sum and F2 is carry
b) F3 I § U F2 B{F3 is sum and F2 s carry
) Fl 99 % W F4 d{/F1 is sum and F4 is carry
) F3 U9 § T F4 HAF3 is sum and F4 is carry

Options :
1.a
2.b
3.C
4.d

Question Number : 49 Question Id : 7715134584 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fofafad fgamerd g@m (32 fJe wad f§gIEEE 754) @1 cumad § ufafda &
Convert the following binary number (32 bit floating point IEEE 754) into decimal.
1100 0001 1000 1100 0000 0000 0000 0000

(@) -17.5
(b)  -32.0
() -64.5
(d) 12875

Options :
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134584 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofafaa feemud Tem (32 fae @ G IEEE 754) @ c¥Mad § uRafda &1

Convert the following binary number (32 bit floating point IEEE 754) into decimal.
1100 0001 1000 1100 0000 0000 0000 0000

(a) -17.5
(b) -32.0
(c) -64.5
(d) 128.75

Options:
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134585 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Frafifed VHDL &% | Fo HM &1 Udl Tl
Determine the value of F in the following VHDL statement.
<=4011001™;

E<="1107,

F<=(not E & “001" or “000100”) and not D;
(a)  0001L0
(b) 100100
(c) 1L1111
(d) 000100
Options :
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715134585 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafifad VHDL ¥ § F& 99 &1 Udl oyl

Determine the value of F in the following VHDL statement.

D<=%011001";
E<="110";
F<=(not E & *001” or “000100”) and not D;
(a) 000110
(b) 100100
(c) ILILII
(d) 000100
Options :
1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715134586 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



i oy dieedt yade ooy d Vs = 100mV, R=100kQ,V=75mV, R=10Q, T Vo =2V AH|
g Ry & IR # 30Q B UioRIYS WiSd § d Vo &1 1.8V H UK Bl 1 A T R, @I
Tdl |
In the voltage amplifier circuit given below, let Vs = 100mV, R=100kQ,Vi=75mV, Ri=10Q,
and Vo =2V. If connecting a 30Q resistor in parallel with Ry causes dropping Vo to 1.8V, find
A and R,

>

o

+
.

a) Ax=80V/V, R4Q
b) Ax=60V/V, R=5Q
) Ax=50VIV, R4Q
) A=40VIV | R=5Q

(
(
(c
(d
Options:
1.a
2.b
3.c

4.d

Question Number : 51 Question Id : 7715134586 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



i oy dieedt yade ooy d Vs = 100mV, R=100kQ,V=75mV, R=10Q, T Vo =2V AH|
g Ry & IR # 30Q B UioRIYS WiSd § d Vo &1 1.8V H UK Bl 1 A T R, @I
Tdl |
In the voltage amplifier circuit given below, let Vs = 100mV, R=100kQ,Vi=75mV, Ri=10Q,
and Vo =2V. If connecting a 30Q resistor in parallel with Ry causes dropping Vo to 1.8V, find
A and R,

>

o

+
.

a) Ax=80V/V, R4Q
b) Ax=60V/V, R=5Q
) Ax=50VIV, R4Q
) A=40VIV | R=5Q

(
(
(c
(d
Options:
1.a
2.b
3.c

4.d

Question Number : 52 Question Id : 7715134587 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



91 U 391 o T @ 9 IRe e} & foU, 75 Hz & 3db 3@ g & U RIG
R2 BT AH BRI ........ 8
For the unity gain Sallen Key low pass filter given below, value of R1 and R2 for a-3db cut-off
frequency of 75 Hz is approximately

f

+15V

R1

R?
Vin Y'Y W
G
1

—V out

-5V

a
b
c
d

RI,R2=15K
RI,R2=2K
RI=15K,R2=3K

(
(
(
( R1=2k, R2=4K

)
)
)
)
Options :
1.a

2.b

3.cC
4.d

Question Number : 52 Question Id : 7715134587 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



91 U 391 o T @ 9 IRe e} & foU, 75 Hz & 3db 3@ g & U RIG
R2 BT AH BRI ........ 8
For the unity gain Sallen Key low pass filter given below, value of R1 and R2 for a-3db cut-off
frequency of 75 Hz is approximately

f

+15V

R1 R2
w,,"—\NV‘ Wy J_ —0V out
F}I 15V
(a) RLR2=135K
(b) RI,R2=2K
(c) RI=L3K,R2=3K
(d) RI=2k,R2=4K
Options :
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134588 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Rifte $0d & W6 9 300 © % W0 o W p (@HF &1 dHad X el o T
Tl UG HAT: JUAH B T Ng—N,= 102 em? &

Estimate the free electron and hole concentrations, n and p (approx.) present in a silicon sample
where both donor and acceptor impurities are simultaneously present and Ng— N, = 103 ¢cm?
(a) n=108cm?;p=10"cm?

(b) n=10%cm?;p=10"cm?

(c) n=108cm?;p=10"cm?

(d n=108cm?;p=10"cm?

Options :
1.a



2.b
3.¢C
4.d

Question Number : 53 Question Id : 7715134588 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ffcroM ¥d # W 4o Ioae W 9% WisW 0 W p (WADe) &1 Hbed L Wl ol U
Tl 3G PAY: JUTH & TUN Ny— N, = 108 em? g
Estimate the free electron and hole concentrations, n and p (approx.) present in a silicon sample

where both donor and acceptor impurities are simultaneously present and Ng— N, = 103 ¢cm?
(a) n=108cm?;p=10"cm?

(b) n=10%cm?;p=10"cm?
(c) n=108cm?;p=10"cm?
(d n=108cm?;p=10"cm?

Options :

1.a

2.b

3.C

4.d

Question Number : 54 Question Id : 7715134589 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

97 t=0 § TRA@ dieedl Ve=-2V ¥ T R & 9RT TR @ t=00 R 3 diceal Vo=
5V # R f&W 9 3 ¥ t= RC W, WURT & SR-UR @ IhHde deed

A capacitor C is charged through resistance R from inifial voltage Vc = -2V at time t=0 to
final voltage Vc = 5V at t = o, At time t = RC, approx. voltage across the capacitor is

(a) 190V
(b) 24V
(c) 33V
(d 39V
Options:
1.a
2.b
3.¢

4.d



Question Number : 54 Question Id : 7715134589 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

99 t=0 § YRA® dieedl Ve=-2V ¥ Wialy R & 9RT TR @ t=00 R 3 diceel Vo=
sV 8 R f&u 9 8 ¥HU t= RC W, WA & R-UR @ IRde dieed

A capacitor C is charged through resistance R from initial voltage Ve = -2V at time t=0 to
final voltage Vc = 5V at t = cv. At time t=RC, approx. voltage across the capacitor is

(a) 190V
(b) 24V
(c) 33V
(d) 39V
Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134590 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T H 9 o Wody RI W R2 &1 g WKW R 81 AR RI W R2 H @@ & foU 1%
@l gl g, d WMoY R1=300 Q WR2=200Q & foiv g R ¥ Wiod Tedl ........ Gl
Suppose that resistors R1 and R2 are connected in parallel to give an equivalent resistor R. If
resistors R1 and R2 have tolerance of 1% each, the equivalent resistor R for resistors R1=300 Q
and R2=200Q will have tolerance of

(a)  0.5%

(b) 1%

(c) 12%

(d)

2%

Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134590 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TR A 95 @ WY Rl W R2 &1 Q@ WU R 31 I RI W R2 ® Wd® & fow 1%
@l gl g, @ Wl R1=300 Q TR2=200Q & v g R # Wiod F@efl ........ gt
Suppose that resistors R1 and R2 are connected in parallel to give an equivalent resistor R. If
resistors R1 and R2 have tolerance of 1% each, the equivalent resistor R for resistors R1=300 Q
and R2=200Q will have tolerance of

(a) 0.5%
(b) 1%
(c) 1.2%
(d 2%
Options :
1.a
2.b
3.C
4.d

Question Number : 56 Question Id : 7715134591 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ TRl S ded H 1 (mV/V)kPa @1 TR 81 Yie® 10 V @1 34 Mem ¥ S
a‘la?%am&rmgzaﬁ3%%2001nv'{ﬂfw1ﬁﬁwanﬁmaﬂmﬂmu@wﬁ|
HIG gl @1 faved, oRed ... gl

A piezoresistive pressure sensor has a sensitivity of 1 (mV/V)/kPa. The sensor is excited with a

dc supply of 10 V and the output is read using 3%digit 200mV full-scale digital multimeter.

The resolution of the measurement set-up, in pascal is

(@) 15
(b) 20
(c) 5
(d) 10
Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134591 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



e TRy S ded H 1 (mV/V)kPa @1 TR 81 Yiew 10 V @ 9 em ¥ Sfem
B § U1 AR @ 3~ 3 200my T A Rfed AR @1 0 @R Tl A Bl
I gl @l faded, med d. .. gl

A piezoresistive pressure sensor has a sensitivity of 1 (mV/V)/kPa. The sensor is excited with a

dc supply of 10 V and the output is read using B%digit 200mV full-scale digital multimeter.

The resolution of the measurement set-up, in pascal is

(a) 15
(b)y 20
(c) 5
(d) 10
Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134592 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W el @1 2 9 & fay sA # 96 U 9 g, W 9% 38 R ohms & WRlvE ¥
fqufola fooar o g1 2 el # fowo oy @@ o dleedt 12V W RR W B, @ Sl
Bl Ah G&d 31 80% T g ‘R’ P HF @1 Wl )

A battery is charged at SA for 2 hours after which it is discharged through a resistor of R ohms.
If discharge period is 2 hours and the terminal voltage remains fixed at 12V, find out the value
of ‘R’ assuming the Ah efficiency of the battery as 80%

(a) 3 ohm
(b) 2.4 0hm
(c) 1.92o0hm
(d) 2 ohms
Options :
1.a

2.b

3.c

4.d

Question Number : 57 Question Id : 7715134592 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

W@ 9l 31 2 99 & RU SA H 96 60 o §, e @1 38 R ohms ® WRIUS U
faufila fom oiar g1 2 9 A fowslt a@f @ ofid dicedt 12v R RR w5, @ 9l
@l Ah G&d 3 80% A §¢ ‘R’ P M @1 Wl

A battery is charged at SA for 2 hours after which it is discharged through a resistor of R ohms.

If discharge period is 2 hours and the terminal voltage remains fixed at 12V, find out the value
of ‘R’ assuming the Ah efficiency of the battery as 80%

(a) 3 ohm
(b) 2.4 ohm
(c) 1.92ohm
(d) 2 ohms
Options :
1.a

2.b

3.C

4.d

Question Number : 58 Question Id : 7715134593 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3.46 @ WUy faggadica ¥ gad wew o fdggd &7 Wy fggadiad 2 O ToRdl g1 WuH
WRidggd #, TS B AR THEE & WY 4G E 60° BT P S 8, dl fadiy Widgga H
&, TEHT & WY BH-E I S

An electric field in a medium with relative permittivity of 3.46 passes into a medium of relative
permittivity 2. If E makes an angle of 60° with the normal to the boundary in the first dielectric,
what angle does the field make with the normal in the second dielectric.

(a) 45
(b) 60
(c) 30
(d) 90
Options:
1.a
2.b
3.¢
4.d

Question Number : 58 Question Id : 7715134593 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

3.46 @ WUy fdggaEiica § god "em H fdggd & e faggadiaa 2 O oRd 81 U
Widegd 4, S9ed 1 AR VG & 9 4G E 60° BT B & 5, dl fdy Widgga H
8. WO & WY HE-E B0 §n

An electric field in a medium with relative permittivity of 3.46 passes into a medium of relative
permittivity 2. If E makes an angle of 60° with the normal to the boundary in the first dielectric,
what angle does the field make with the normal in the second dielectric.

(a) 45
(b) 60
(c) 30
(d) 90
Options :
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134594 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WP dad R1 & o €9 O ... B
For a sinusoidal alternating current, form factor is
R HH average value

r.m.sHMH r.m.s value
r.m.s HH r.m.s value

Agaaq / average value
r.m.s HH r.m.s value

SRR A / peak value
@ R A peak value

r.m.s HH r.m.s value

Options :
1.a
2.b
3.c
4.d



Question Number : 59 Question Id : 7715134594 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SEHI eddl YR1 & fou 9 b ... 3
For a sinusoidal alternating current, form factor is
A AA average value

r.m.sHH r.m.s value
r.m.s HH r.m.s value

KRG / average value
r.m.s HH r.m.s value

© R TH / peak value
R aH peak value

r.m.s HH r.m.s value

Options :
1.a
2.b
3.C
4.d

Question Number : 60 Question Id : 7715134595 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T 230V S HEH H 0.5 ohm @1 HHR WRRIY g1 AG T YR MR URT 25A §, @
URd em.f &1 Ud1 T, e AEH GHA (GRS & ®Y H DO N g

A 230V dc machine has an armature resistance of 0.5 ohm. If the full load armature current is
25A, find the induced e.m.f, when the machine acts as a generator.

(a) 220V
(b) 217.5V
(c) 230V
(d) 2425V
Options:

1.a

2.b

3.¢

4.d

Question Number : 60 Question Id : 7715134595 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

T 230V Sl HEH H 0.5 ohm @1 AR WRRIY 31 UG T YR R URT 25A B, @
WA en.f @ UAT @, W& WM G (@RS) & ®0 H PR B g

A 230V dc machine has an armature resistance of 0.5 ohm. If the full load armature current is
25A, find the induced e.m.f, when the machine acts as a generator.

(a) 220V
(b) 217.5V
(c) 230V
(d) 242.5v
Options :

1.a

2.b

3.c

4.d

Aptitude Test

Partl



Question Number : 61 Question Id : 7715134596 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

ferr fpw U @ Wefda &2

To which group does the figure belong?

(a) A
(b) B

(c) F AHB/Neither A nor B
(d) Iudad T/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 61 Question Id : 7715134596 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



fo fpw U ¥ WEfG &2

To which group does the figure belong?

"

e0e
Group A mEn ALANA
*kirk

— e00e
Group B AMLLA LRI

(a) A
(h) B

(c) 9 A-B/Neither A nor B
(d) UG Hi/All of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 62 Question Id : 7715134597 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



PH-T1 77 Uy g & 9y WY H gel dadT §?

Which figure fits in the column with questions mark?

B>

Options:
1.a
2.b
3.c
4.d

Question Number : 62 Question Id : 7715134597 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



PH-T1 77 Uy g & 9y WY H gel dadT §?

Which figure fits in the column with questions mark?

B>

Options:
1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715134598 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



frofafes & @ on-w 4R for theie @1 3T @1 W @Al 8 Aol el & W@
agur H, U H ¥ g 7 3w oI YST 9gHE WieR e quify, Fdeu Tied adedl &
U B B HEdl § off & dAH & TP ..oennennnn...

Which of the following best completes the passage below? In a survey of job applicants, two-fifths
admitted to being at least a little dishonest. However, the survey may underestimate the
proportion of job applicants who are dishonest, because .

(a) %mﬁﬁwéﬁnﬂmﬁﬁwﬁmmﬁéﬁwmﬁmm

some dishonest people taking the survey might have claimed on the survey to be honest

(b) A& o T WURVHT SHICR Hidadl 4 Tdaw § o0+ 30 & §3AF B @I
& fear g
some generally honest people taking the survey might have claimed on the survey to be
dishonest

() P9 oftd fo Taem & o0 o B digT ¥ €9 @ g f g 4§ agd
e d5AH g

some people who claimed on the survey to be at least a little dishonest may be very
dishonest

(d) B i fore G360 § H07 U B §2AF B B oAl B BT @ SHMGN
VAW ¢ @ o

some people who claimed on the survey to be dishonest may have been answering
honestly

Options :
1.a
2.b
3.C
4.d

Question Number : 63 Question Id : 7715134598 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



frofafes & @ on-w 4R for theie @1 3T @1 W @Al 8 Aol el & W@
agur H, U H ¥ g 7 3w oI YST 9gHE WieR e quify, Fdeu Tied adedl &
U B B HEdl § off & dAH & TP ..oennennnn...

Which of the following best completes the passage below? In a survey of job applicants, two-fifths
admitted to being at least a little dishonest. However, the survey may underestimate the
proportion of job applicants who are dishonest, because .

(a) %mﬁﬁwéﬁnﬂmﬁﬁwﬁmmﬁéﬁwmﬁmm

some dishonest people taking the survey might have claimed on the survey to be honest

(b) A& o T WURVHT SHICR Hidadl 4 Tdaw § o0+ 30 & §3AF B @I
cmal faar gm

some generally honest people taking the survey might have claimed on the survey to be
dishonest

() P9 oftd fo Taem & o0 o B digT ¥ €9 @ g f g 4§ agd
e d5AH g

some people who claimed on the survey to be at least a little dishonest may be very
dishonest

(d) B i fore G360 § H07 U B §2AF B B oAl B BT @ SHMGN
VAW ¢ @ o

some people who claimed on the survey to be dishonest may have been answering
honestly

Options :
1.a
2.b
3.C
4.d

Question Number : 64 Question Id : 7715134599 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

48,24, 12, ... 90 H DH-U =T A AT DMET?

Which number should come next in the series, 48, 24, 12, ......7

(a) 8
(b) &
(c) 4
(d) 2
Options:
1.a
2.b
3.¢

4.d



Question Number : 64 Question Id : 7715134599 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
48, 24,12, ...... guft o SH-41 T= e S =eu?

Which number should come next in the series, 48, 24, 12, ......7

(a)
(b)
(c)
(d)

[ = ) [

Options :
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134600 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



e U9 aRkg AU veye & 9 AUFIUS fqUUH 9@ o oY 3 M &
& fdarg # o o9 31 $% b9 UId gl 3 S & o d g e dR
W US GR & JY Tl 990 ¢ adl 9 PR SWead § W®d gl 9 gnl opft AU

mﬁm%%&wﬁﬁ%ﬁumw%%ﬁwmﬁﬁﬁwﬁwm
& oy o5 W § MU | D4R

At a marketing meeting with your supervisor and the senior marketing manager you find yourself
in the midst of a conflict between them. You know that the two do not get along professionally
and that they are in constant disagreement. They are now arguing about strategies for a new
campaign, and are asking you to pick a side. What would you do?

(a) &MU aRy fauvH yeed & faarR & R | i, d §gd dRF & aul B
# AUD UE DI AP IIP1 GHE WG §, ok ol G S Afome ¢ ¥
gfgarr 31
You accept the idea of the senior marketing manager. Since she is more senior she has
more influence on your status in the company and therefore it is politically wiser to
support her.

(b) 39 U FWded & fdaR & WoR 4 §fd, 98 Ue ¥ ud Jer FW 3
g, oM@ Ul H e e oIl H ofie yMa g, ofc: Idl SHld B
Hifdw® 1 ¥ qSar 2
You accept the idea of your supervisor. Since he is directly above you, he has more
influence on your daily routine in the company and therefore it is politically wiser to
support him.

(c) 9 Ylld U& & oM 9 BIF P! HIU qUl o adfdde YO8 ¥ U2 fo deguR
At <
You weigh up the advantages and disadvantages of each side and decide accordingly
without getting involved in their personal conflict.

(d) U@ 7RI 3 5 39 fae & usT ome R geRe @, @fe aF R
TS e aRE g AT G [TaRl & TAH €9 ¥ 960 AHd g¢ U & 90
& U T B G
You believe that getting involved in this dispute would be detrimental to you as both sides
are superior to you. Therefore, you refuse to pick a side saying that both strategies are
equally successful.

Options :
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134600 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



e U9 aRkg AU veye & 9 AUFIUS fqUUH 9@ o oY 3 M &
& fdarg # o o9 31 $% b9 UId gl 3 S & o d g e dR
W US GR & JY Tl 990 ¢ adl 9 PR SWead § W®d gl 9 gnl opft AU

mﬁm%%&wﬁﬁ%ﬁumw%%ﬁwmﬁﬁﬁwﬁwm
& oy o5 W § MU | D4R

At a marketing meeting with your supervisor and the senior marketing manager you find yourself
in the midst of a conflict between them. You know that the two do not get along professionally
and that they are in constant disagreement. They are now arguing about strategies for a new
campaign, and are asking you to pick a side. What would you do?

(a) &MU aRy fauvH yeed & faarR & R | i, d §gd dRF & aul B
# AUD UE DI AP IIP1 GHE WG §, ok ol G S Afome ¢ ¥
gfgarr 31
You accept the idea of the senior marketing manager. Since she is more senior she has
more influence on your status in the company and therefore it is politically wiser to
support her.

(b) 39 U FWded & fdaR & WoR 4 §fd, 98 Ue ¥ ud Jer FW 3
g, oM@ Ul H e e oIl H ofie yMa g, ofc: Idl SHld B
Hifdw® 1 ¥ qSar 2
You accept the idea of your supervisor. Since he is directly above you, he has more
influence on your daily routine in the company and therefore it is politically wiser to
support him.

(c) 9 Ylld U& & oM 9 BIF P! HIU qUl o adfdde YO8 ¥ U2 fo deguR
At <
You weigh up the advantages and disadvantages of each side and decide accordingly
without getting involved in their personal conflict.

(d) U@ 7RI 3 5 39 fae & usT ome R geRe @, @fe aF R
TS e aRE g AT G [TaRl & TAH €9 ¥ 960 AHd g¢ U & 90
& U T B G
You believe that getting involved in this dispute would be detrimental to you as both sides
are superior to you. Therefore, you refuse to pick a side saying that both strategies are
equally successful.

Options :
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715134601 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



gl g H oI99 9@ & & adl 3 WA B H uRae uded & w9 § fomn
gl gH 3991 U T3 UG W 99 & & fOU o Seaitdl & 9 UH d6d @
G Tl g1 3% & GRH, & dRE GebH! aFl Bl BIeT U4 SFHIRH €dld U IHdI
TS 3 §, & 96 & W dal g 9 @ uialea @1 Sfad e & 8

Bonnie is a recent business graduate and has been hired as a project manager at a construction
firm. Bonnie arranges a company meeting with her colleagues to discuss a new project she will be
managing. During the meeting, two senior colleagues keep making jokes about how young and
inexperienced Bonnie is, which disrupts the meeting. What is the best way for Bonnie to respond?

(a) T P PN T FHa I AT IR A TR e T §T @AW I R
¥ % $ o TR
Bonnie should storm out of the room and slam the door to make a point.

(b) S BT T FEHHA & o Bl qH Told IoHT AU
Bonnie should make jokes about how old her colleagues are.

(c) SHI B HU4 TEHHYl DI Forafee P §U 43P TRI WG Mgyl
Bonnie should ignore her colleagues and continue with the meeting.

(d) S &I 30 GeeiHul Bl Aule A W U 960 & 916 A AP M & B
@GRl @ & Y dE iRyl
Bonnie should ask her colleagues to be respectful and continue with their jokes after the
meeting.

Options :
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715134601 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



gl g H oI99 9@ & & adl 3 WA B H uRae uded & w9 § fomn
gl gH 3991 U T3 UG W 99 & & fOU o Seaitdl & 9 UH d6d @
G Tl g1 3% & GRH, & dRE GebH! aFl Bl BIeT U4 SFHIRH €dld U IHdI
TS 3 §, & 96 & W dal g 9 @ uialea @1 Sfad e & 8

Bonnie is a recent business graduate and has been hired as a project manager at a construction
firm. Bonnie arranges a company meeting with her colleagues to discuss a new project she will be
managing. During the meeting, two senior colleagues keep making jokes about how young and
inexperienced Bonnie is, which disrupts the meeting. What is the best way for Bonnie to respond?

(a) T P PN T FHa I AT IR A TR e T §T @AW I R
¥ % $ o TR
Bonnie should storm out of the room and slam the door to make a point.

(b) S BT T FEHHA & o Bl qH Told IoHT AU
Bonnie should make jokes about how old her colleagues are.

(c) SHI B HU4 TEHHYl DI Forafee P §U 43P TRI WG Mgyl
Bonnie should ignore her colleagues and continue with the meeting.

(d) S &I 30 GeeiHul Bl Aule A W U 960 & 916 A AP M & B
@GRl @ & Y dE iRyl
Bonnie should ask her colleagues to be respectful and continue with their jokes after the
meeting.

Options :
1.a
2.b
3.c
4.d

Question Number : 67 Question Id : 7715134602 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

T @1 WY D0 9 3, q9 990 @ 9y ..., T 2
Cup is to coffee as bowl is to

a) &TDish

(

(b) ¥G/Soup
(c) dHd/Spoon
(d) @ri/Food

Options :
1.a
2.b
3.c



4.d

Question Number : 67 Question Id : 7715134602 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

&0 &1 T4y IO I ¢, q9 990 I 6 ......... i
Cup is to coffee as bowl is to

a) f&9/Dish

(
(b) ¥G/Soup
(c) dHd/Spoon
(d) @Hi/Food
Options :
1.a

2.b

3.C

4.d

Question Number : 68 Question Id : 7715134603 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

foF fu u ¥ g&fag &2

To which group does the figure belong?

o
H N
il 713
Group A: [ |
o HEm
: "
Group B: O ]
m

(a) YU/Group A

(b) YU/Group B

(c) 9 AH{B/Neither Anor B

(d) Iudad Ti/All of the above

Options :



1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134603 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

o g qu ¥ &g 32

To which group does the figure belong?

O
"N
¥l T I
Group A: |
o mmE
)
Group B: 0 N
n

(a) YU/Group A

(b) q4/GroupB

(c) H aAB/Neither AnorB

(d) Iuddd THi/All of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 69 Question Id : 7715134604 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



% I9H BR @ (@ R ¢l 9 09 @ AleR 99 §, U9 & h 4 (o 4 e
fag gim

There are two identical cars along a bridge. If the bridge has the same thickness along it, which
part(s) of the bridge would undergo the most deflection?

i =

(a) <R @ :ﬂ%fUnderthe towers

(h) @R 7 :ﬂﬁfBelowthe cars

() U@ & dfdl &F/Middle of the bridge

(d) _@Rjﬂﬂ oft 4 3gM ey Wfﬂll of the above will have equal deflection

Options :
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134604 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



% I9H BR @ (@ R ¢l 9 09 @ AleR 99 §, U9 & h 4 (o 4 e
fag gim

There are two identical cars along a bridge. If the bridge has the same thickness along it, which
part(s) of the bridge would undergo the most deflection?

i =

(a) <R @ :ﬂ%fUnderthe towers

(h) @R 7 :ﬂﬁfBelowthe cars

() U@ & dfdl &F/Middle of the bridge

(d) _@Rjﬂﬂ oft 4 3gM ey Wfﬂll of the above will have equal deflection

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134605 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



p dihd wia Ty fezm # gamme

In which direction will the wheel marked P will spin?

(a) A
(b) B

(c) fﬂﬁ EEJT-_-T 9g1/No rotation
(d) &g T8l Hhd/Can not say

Options :
1.a
2.b
3.C
4.d

Question Number : 70 Question Id : 7715134605 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

p 3ifbad @id fou fezm o gum

In which direction will the wheel marked P will spin?

(a) A
(b) B

(c) I3 Tﬂ:f T%l/No rotation
(d) g gl Fbd/Can not say

Options :



2.b
3.¢C
4.d

Part II

Question Number : 71 Question Id : 7715134606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG 84x13=8,37x13=6,26x11=68, d 56x22 f&da1 g
1f84x13=8,37x13=6,26 x 11 = 6, then 56 x 22 =?

(a) 36
(b) 39
(c) 7
(d) 11
Options :
1.a
2.b
3.c
4.d

Question Number : 71 Question Id : 7715134606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG 84x13=8,37x13=6,26x11=68, d 56x22 f&da1 B2
If84x13=8,37x13=6,26 x 11 =6, then 56 x 22 =?

(a) 36
(b) 39
(c) 7
(d) 11
Options:
1.a
2.b
3.c
4.d

Question Number : 72 Question Id : 7715134607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
dY-/Statements:

ol 8R [EIW} a“ﬁmﬂm B/All poles are guns.

gt 99 BR [ﬁlﬂ} :ITE»PI %ﬁSome boats are not poles.

ﬁlﬁﬁf;‘ﬂonclusions:
(i) it a@ EIE| %?AII guns are boats.
(ii) Ded EIL] dr;m 8l ©/Some boats are not guns.

fafaRad § ®9-9 Tel &/Which of the following is true?

(a) HIE LA {i}?ﬁi»pl %;’Dnly conclusion (i) follows

(b) HE FBY (i) T §/0Only conclusion (i) follows

(c) Tspd (i) AT Ty (ii) WST B/Either (i) or (i) follows
(d) fsde (i) 1 FsHY (i) W8l 8/Neither (i) nor (ii) follows

Options :

1.a
2.b
3.c
4.d

Question Number : 72 Question Id : 7715134607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



DY-/Statements:

ol 8R [EIW} a“ﬁmﬂm B/All poles are guns.
gt 99 BR [ﬁlﬂ} :ITE»PI %ﬁSome boats are not poles.

s /conclusions:

(i) it a@ EIE| %?AII guns are boats.
(ii) Ded EIL] dr;m 8l ©/Some boats are not guns.

fafaRad § ®9-9 Tel &/Which of the following is true?

(a) HIE LA {i}?ﬁi»pl %;’Dnly conclusion (i) follows

(b) HE FBY (i) T §/0Only conclusion (i) follows

(c) Tspd (i) AT Ty (ii) WST B/Either (i) or (i) follows
(d) fsde (i) 1 FsHY (i) W8l 8/Neither (i) nor (ii) follows

Options :

1.a
2.b
3.c
4.d

Question Number : 73 Question Id : 7715134608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafed fodedl § ¥ fCU Tsg HIRSUTE T [AWRIard G2 a1d WMo @1 909 &Y

Choose one of the following options that means the opposite of the word; HIRSUTE
(a) Scaly
(b) Bald
(c) Erudite
(d) Quiet
Options:
1.a
2.b
3.C

4.d

Question Number : 73 Question Id : 7715134608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fofeiad fddedl # ¥ ST Weg HIRSUTE & fAwiard U a0 Weg @1 907 &Y

Choose one of the following options that means the opposite of the word; HIRSUTE
(a) Scaly
(b) Bald
(c) Erudite
(d) Quiet
Options :
1.a
2.b
3.c

4.d

Question Number : 74 Question Id : 7715134609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

H-T Uy TF @ ufofig &

Which one will replace the question mark?

16 | 28 | 29
13 | 12 | 16
14 | 10 | 15
15| 30| 7

(a) 60

(b) 30

(c) 20

(d) 45

Options :

1.a

2.b

3.c

4.d



Question Number : 74 Question Id : 7715134609 Question Type
Correct Marks : 2 Wrong Marks : 0

DHE-T1 Uy g @I ulowifid &

Which one will replace the question mark?

16 28 29

13 12 16

14 10 15

15 30 ?

(a) 60
(b) 30
(c) 20
(d) 45

Options :
1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715134610 Question Type
Correct Marks : 2 Wrong Marks : 0

hy-d/Statements:
P dlp Eﬁﬁ% %ﬁume blades are hammers.
] E{% @3{ %EISDI'T‘IE hammers are knives.
B @ gﬁtﬂﬁm’f 8/Some knives are axes.

fAsd/Conclusions:

(i) ] Wﬁi—m 321’1?_51 ©/Some axes are hammers.
(ii) EaE] @ EIEY &/Some knives are blades.

(iii) ] @'Tﬁ'lﬁ':'ﬂ'l dldy %?Some axes are blades.

(a) ®HMA (i)d {ii}ﬂﬁ %{Only (i) and (ii) follow
(b) W|E (i) d (iii) Gel %{Dr‘ulv (i) and (iii) follow
(c) WHE (i)d (iii) Gel %;"C'nlv (i) and (iii) follow
(d) P& Hi Hﬁf :lTiapf %?None follows

: MCQ Option Shuffling : No

: MCQ Option Shuffling : No



Options :
1.a
2.b
3.C
4.d

Question Number : 75 Question Id : 7715134610 Question Type
Correct Marks : 2 Wrong Marks : 0

hY-/Statements:
g dlp Eﬁﬁ% %{'SDI’T'!E blades are hammers.
] E{% @3\‘ %ffSDme hammers are knives.
] @ ﬁfﬁ'ﬂ’f 8/Some knives are axes.

Aspy/conclusions:

(i) 3] m BYUIST B/Some axes are hammers.
(ii) EaE] @ EIEY &/Some knives are blades.

(iii) 3] m dld B/Some axes are blades.

(a) WHE (i)d (i) Gl %{Onlv (i) and (ii) follow
(b) ®HIEA (ii)d (iii) el %{Dnly (ii) and (iii) follow
(c) HMEA (i)d {iii]-\qﬁ %fDnIy (i) and (iii) follow
(d) P& Hi ﬂﬁ :@T %fNﬂne follows

Options :
1.a
2.b
3.c
4.d

Descriptive

: MCQ Option Shuffling : No



Descriptive

Question Number : 76 Question Id : 7715134611 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

MYRYd MOS faudt gm &1 uRuy 7 fewn v wmaen o 39¢ @y R fadd
diced! dfel U HY|

Show the circuit diagram of a basic MOS differential pair and derive its small signal
differential voltage gain in equilibrium condition.

Question Number : 76 Question Id : 7715134611 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

HYRYd MOS faudt gm &1 uRuy o fGE v wmae o 39d oy e fadd
diced! dfel U HY|

Show the circuit diagram of a basic MOS differential pair and derive its small signal
differential voltage gain in equilibrium condition.

Question Number : 77 Question Id : 7715134612 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



TdD o $ YoRiEDd I U B §Y g wH RSl ADC @1 ©3 3G
fewrt) &g yoR ¥ fiide 3o AWd UMY Had Hdl & Ud S U Wa
RERICAAGRY

Show the block diagram of a second order sigma-delta ADC describing the
functionality of each block. Explain how the architecture enables high resolution
conversion and the techniques employed there-in.

Question Number : 77 Question Id : 7715134612 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

TdD o ® YoRidDd I 9UH B §Y fed wH REH-Swl ADC @1 €S ARG
feem| &9 UPR 5 G I [AWd TR a0 Bl § U4 39 Y Wa
deiie W $1

Show the block diagram of a second order sigma-delta ADC describing the
functionality of each block. Explain how the architecture enables high resolution
conversion and the techniques employed there-in.

Question Number : 78 Question Id : 7715134613 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

Fefafed fefored TRuy § Fge (AB.CD) R ¥& &N (Sa-0 / Sa-1) &1 Ul WIH &
i MeWd 390 W Wowy &1 a8 S8 G &
What is the minimum number of input test patterns required to detect stuck at fault (Sa-
0/ Sa-1) at inputs (A,B.C,D) in the following digital circuit?

A—

B—
C— Y

D J

Question Number : 78 Question Id : 7715134613 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



ffafed fefored uRuy & g9qe (AB,C.D) R ¥& @Y (Sa-0 / Sa-1) &1 Ul &4 &
fou ofrawge S9qe Wau ufawy @ Hd e faa &
What is the minimum number of input test patterns required to detect stuck at fault (Sa-
0/ Sa-1) at inputs (A,B,C,D) in the following digital circuit?

A —

B—
= Y

D

Question Number : 79 Question Id : 7715134614 Question Type : SUBJECTIVE Consider As
Subjective : Yes
Correct Marks : 5

MOSFET & W 3 U4 fd @ &1 a0 &8l 1 kHz ¥ | MHz & d8 & foU
NMOS URT 9id & $d 4 1 URdad ol

Give the expressions for the thermal noise and flicker noise of a MOSFET. Calculate
the total noise for an NMOS current source for a band from | kHz to 1 MHz.
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MOSFET & GW¥id 4 14 f&ptd @ @1 9u &l 1 kHz ¥ | MHz & d8 & iU
NMOS 4RI Hld & $d W @I WReeH |

Give the expressions for the thermal noise and flicker noise of a MOSFET. Calculate
the total noise for an NMOS current source for a band from 1 kHz to 1 MHz.

Question Number : 80 Question Id : 7715134615 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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(a) Show the circuit diagram of a sampling switch as used in Switched capacitor
circuits. Explain three parasitic effects that can affect its precision.

(b) Show the circuit diagram of a switched capacitor non-inverting amplifier. Derive its
gain expression assuming finite op amp open loop gain of A, and finite op amp mput

capacitance, Cy,
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(a) Show the circuit diagram of a sampling switch as used in Switched capacitor
circuits. Explain three parasitic effects that can affect its precision.

(b) Show the circuit diagram of a switched capacitor non-inverting amplifier. Derive its
gain expression assuming finite op amp open loop gain of A, and finite op amp input

capacitance, Ci.
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